
COMPANY LOGO

Deck
Fittings

Daggerboard friction pad - 415281.
Friction pad screws (2) - #10 X 1 1/2in Phillips2.
Hiking strap plate - 250073.
Plate screws (2) - #10 X 1 1/2in Phillips4.
Mainsheet eyestrap - 202185.
Mainsheet block - 206516.
Mainsheet block spring - 200457.
Hiking strap - R1290178.
Vang plate - 240379.
Vang plate rivet (4) - 3/16 in x 1/2 in stainless 10.
Vang complete - 4153311.
Vang upper block w/ key - 4153012.
Vang lower block - 4110913.
Vang key - 2404614.
Vang base - 4153215.
Vang Pin (attaches vang to tang) - 2002316.
Boweye fairlead - 2400217.
Boweye fairlead screw - #10 X 1 1/2in Phillips 18.
Harken deck cleats - 4109619.
Deck cleat screws - #10 X 1 1/2in Phillips 20.
Deck block assembly - 2604621.
Deck block - 2065022.
Deck block plate - 4106523.
Deck block screw - #10 X 1 1/2in Phillips24.

ILCA Parts Guide 

ZIM ILCA Parts Guide - Starting Line Sailing

Overview: 
LOA: 13ft 9in
Beam: 4ft 7in

Weight: 130 lbs
Rig size options

ILCA 7 (standard)
ILCA 6 (radial)

ILCA 4 (4.7)

https://zimsailing.com/ilca-daggerboard-friction-pad-mk2/
https://zimsailing.com/ilca-daggerboard-friction-pad-mk2/
https://zimsailing.com/hiking-strap-plate/
https://zimsailing.com/hiking-strap-plate/
https://zimsailing.com/eyestrap-2-hole/
https://zimsailing.com/eyestrap-2-hole/
https://zimsailing.com/stand-up-spring/
https://zimsailing.com/stand-up-spring/
https://zimsailing.com/stand-up-spring/
https://zimsailing.com/stand-up-spring/
https://westcoastsailing.net/ilca-laser-daggerboard-fricton-pad-mk2/
https://zimsailing.com/harken-t2-18-mm-double-block-h2158/
https://zimsailing.com/harken-t2-18-mm-double-block-h2158/
https://zimsailing.com/curved-vang-key/
https://zimsailing.com/curved-vang-key/
https://zimsailing.com/clevis-pin-1-4-x-3-4/
https://zimsailing.com/clevis-pin-1-4-x-3-4/
https://zimsailing.com/bow-eye-fairlead/
https://zimsailing.com/bow-eye-fairlead/
https://zimsailing.com/plate-cleat-w-harken-ilca/
https://zimsailing.com/plate-cleat-w-harken-ilca/
https://zimsailing.com/plate-only-for-blocks-ilca/
https://zimsailing.com/plate-only-for-blocks-ilca/


Hull &
Deck
Fittings
(continued)

ZIM ILCA Parts Guide - Starting Line Sailing

Hiking strap eye straps (2) - 202181.
Eyestrap screw (4) - #10 X 1 1/2in
Phillips

2.

Cockpit bung - 20255 3.
Cockpit bushing assembly - 410794.
Traveler cleat - 411315.
Traveler cleat screw (2) - #10 X 1 1/2in
Phillips

6.

Hiking strap adjuster – 411687.
Grabrail* - 240158.
Grabrail screw (5) - #10 X 1 1/2in
Phillips

9.

Grabrail captive nut (5) – 4101410.
Daggerboard - 4103511.
Daggerboard stop set – 4108612.
Autobailer (not pictured) - 4100813.

*does not fit LP/Vanguard ILCAs. Must fill and
redrill holes

https://zimsailing.com/eyestrap-2-hole/
https://zimsailing.com/eyestrap-2-hole/
https://zimsailing.com/rubber-cork-drain-plug/
https://zimsailing.com/rubber-cork-drain-plug/
https://westcoastsailing.net/eyestrap-regular/
https://zimsailing.com/drain-bushing-assy-ilca/
https://zimsailing.com/drain-bushing-assy-ilca/
https://zimsailing.com/clamcleat-704mk1an/
https://zimsailing.com/clamcleat-704mk1an/
https://zimsailing.com/ilca-hiking-strap-adjuster-with-cleat/
https://zimsailing.com/ilca-hiking-strap-adjuster-with-cleat/
https://zimsailing.com/grabrail/
https://zimsailing.com/grabrail/
https://zimsailing.com/daggerboard-ilca/
https://zimsailing.com/daggerboard-ilca/
https://zimsailing.com/stop-daggerboard-ilca/
https://zimsailing.com/stop-daggerboard-ilca/
https://zimsailing.com/auto-bailer-for-ilca-laser-sailboat/
https://zimsailing.com/auto-bailer-for-ilca-laser-sailboat/


Transom
& Rudder

ZIM ILCA Parts Guide - Starting Line Sailing

Gudgeon (2) - 240081.
Gudgeon screw (8) - #10 X 1 1/2in Phillips2.
Rudder clip - 240093.
Rudder clip screw (2) - #10 X 1 1/2in Phillips4.
Drainplug - 200985.
Drainplug screw (2) - #8 X 1 in Phillips6.
Rudder Assembly, Complete - 410787.
Rudderhead - 240178.
Rudderhead bolt – 803719.
Rudder bolt nut - 3/8in locknut10.
Rudder bolt washer - Nylon 3/8in11.
Rudder blade - 4103612.
Tiller, carbon - 4115713.
Tiller universal (not pictured) - 4304914.
Tiller extension (not pictured) - 4115815.
Traveler fairlead (2) - 2302216.
Traveler fairlead screw (4) - #10 X 1 ½ in
Phillips

17.

Fairlead nut - 4107018.
Traveler block – 4153719.

https://zimsailing.com/ilca-gudgeon/
https://zimsailing.com/ilca-gudgeon/
https://zimsailing.com/byte-rudder-clip/
https://zimsailing.com/byte-rudder-clip/
https://zimsailing.com/byte-rudder-clip/
https://westcoastsailing.net/ilca-gudgeon/
https://zimsailing.com/drain-plug-beckson/
https://zimsailing.com/rudder-complete-ilca/
https://zimsailing.com/rudder-complete-ilca/
https://zimsailing.com/rudder-head-byte/
https://zimsailing.com/rudder-head-byte/
https://zimsailing.com/fastener-3-8-x-1-5-hex/
https://zimsailing.com/fastener-3-8-x-1-5-hex/
https://zimsailing.com/rudder-blade-ilca/
https://zimsailing.com/rudder-blade-ilca/
https://zimsailing.com/tiller-carbon-ilca-dwyer/
https://zimsailing.com/tiller-carbon-ilca-dwyer/
https://zimsailing.com/rs-universal-tiller-extension/
https://zimsailing.com/rs-universal-tiller-extension/
https://zimsailing.com/tiller-extension-carbon-ilca-dwyer/
https://zimsailing.com/tiller-extension-carbon-ilca-dwyer/
https://zimsailing.com/aluminum-fairlead/
https://zimsailing.com/aluminum-fairlead/
https://zimsailing.com/cap-self-tapping-for-ilca-traveller-fairlead-each/
https://zimsailing.com/cap-self-tapping-for-ilca-traveller-fairlead-each/


Boom
Gooseneck - 240321.
Gooseneck rivets (6) - 3/16 in x 1/2 in stainless 2.
Gooseneck bolt – 1/4in x 1in Hex Head 3.
Vang tang - 240344.
Tang rivet (4) - 3/16 in x 1/2 in stainless 5.
Boom complete - 410546.
Boom eyestrap (2) - 410597.
Eyestrap rivet (2) - 3/16 in x 1/2 in stainless 8.
Outhaul cleat - 240059.
Outhaul cleat rivet (2) - 3/16 in x 1/2 in stainless 10.
Outhaul fairlead - 2302211.
Fairlead rivet (2) -  3/16 in x 1/2 in stainless 12.
Boom endcap - 2402813.
Clew strap - R10062114.
Boom block w/ becket - 4108815.
Boom block - 4108716.
Boom gooseneck end cap – 2403817.
End/Base cap rivet - 3/16 in x 1/2 in stainless 18.
Clew shackle – 4112319.
Boom webbing strap – 9999420.
Webbing strap rivet - 3/16 in x 1/2 in stainless 21.

ZIM ILCA Parts Guide - Starting Line Sailing

https://zimsailing.com/gooseneck-byte-cii-megabyte/
https://zimsailing.com/gooseneck-byte-cii-megabyte/
https://westcoastsailing.net/ilca-mast-gooseneck/
https://zimsailing.com/vang-tang/
https://zimsailing.com/vang-tang/
https://zimsailing.com/boom-ilca/
https://zimsailing.com/boom-ilca/
https://zimsailing.com/eyestrap-boom-ilca/
https://zimsailing.com/eyestrap-boom-ilca/
https://zimsailing.com/clamcleat-cl211mk1/
https://zimsailing.com/clamcleat-cl211mk1/
https://zimsailing.com/aluminum-fairlead/
https://zimsailing.com/aluminum-fairlead/
https://zimsailing.com/end-plug-upper-mast/
https://zimsailing.com/end-plug-upper-mast/
https://zimsailing.com/clew-strap-ilca-rooster/
https://zimsailing.com/clew-strap-ilca-rooster/
https://zimsailing.com/block-40mm-becket-ilca/
https://zimsailing.com/block-40mm-becket-ilca/
https://zimsailing.com/block-40mm-single-ilca/
https://zimsailing.com/block-40mm-single-ilca/
https://zimsailing.com/gooseneck-plug/
https://zimsailing.com/gooseneck-plug/
https://zimsailing.com/clew-shackle-w-block-ilca/
https://zimsailing.com/clew-shackle-w-block-ilca/
https://westcoastsailing.net/ilca-mast-gooseneck/


Masts,
Sails,
&
Access
ories

ZIM ILCA Parts Guide - Starting Line Sailing

Upper mast - 410551.
Composite upper mast - 41080 2.
Lower mast 6 - 410573.
Lower mast 6, composite - 410814.
Lower mast, 4 - 410565.
Lower mast 7 - 410586.
Top end cap - 240287.
Top 6 composite base cap - 411168.
Connector sleeve - 411179.
Lower 4/7 bottom cap – 4108410.
Lower 6 base plug - 2403111.
Sail 7, Hyde - 4104712.
Sail 7, North - 4103913.
Sail 6, Hyde - 4104614.
Sail 6, North - 4103815.
Sail 4, Hyde - 4104516.
Sail 4, North - 4103717.
MK2 battens (7 sail) - 4104018.
MK1 battens (4 & 6 sails) - 4105319.
Dynamic dolly - 2042120.
Telltales - 2027221.
Teflon ware strips - 1004122.
Teflon ware disc – R10064923.
Blade bag - 4105124.
Spar bag - 4113225.
Deck cover - 4105026.
Hull cover - 4104927.

https://zimsailing.com/mast-upper-aluminum/
https://zimsailing.com/mast-upper-aluminum/
https://zimsailing.com/mast-upper-carbon/
https://zimsailing.com/mast-upper-carbon/
https://zimsailing.com/mast-upper-carbon/
https://zimsailing.com/mast-lower-ilca-6-radial-aluminum/
https://zimsailing.com/mast-lower-ilca-6-radial-aluminum/
https://zimsailing.com/mast-lower-ilca-6-radial-carbon/
https://zimsailing.com/mast-lower-ilca-6-radial-carbon/
https://zimsailing.com/mast-lower-ilca-4/
https://zimsailing.com/mast-lower-ilca-4/
https://zimsailing.com/mast-lower-ilca-7/
https://zimsailing.com/mast-lower-ilca-7/
https://zimsailing.com/end-plug-upper-mast/
https://zimsailing.com/end-plug-upper-mast/
https://zimsailing.com/plug-end-ilca-composite-upper/
https://zimsailing.com/plug-end-ilca-composite-upper/
https://zimsailing.com/connector-plug-composite-ilca-upper/
https://zimsailing.com/connector-plug-composite-ilca-upper/
https://zimsailing.com/plug-base-lower-ilca-4-7/
https://zimsailing.com/plug-base-lower-ilca-4-7/
https://zimsailing.com/plug-base-byte-lower/
https://zimsailing.com/plug-base-byte-lower/
https://zimsailing.com/sail-ilca-7-mk-ii-hyde-no-battens/
https://zimsailing.com/sail-ilca-7-mk-ii-hyde-no-battens/
https://zimsailing.com/sail-ilca-7-mk-ii-north-no-battens/
https://zimsailing.com/sail-ilca-7-mk-ii-north-no-battens/
https://zimsailing.com/sail-ilca-6-hyde-no-battens/
https://zimsailing.com/sail-ilca-6-hyde-no-battens/
https://zimsailing.com/sail-ilca-6-north-no-battens/
https://zimsailing.com/sail-ilca-6-north-no-battens/
https://zimsailing.com/sail-ilca-4-hyde-no-battens/
https://zimsailing.com/sail-ilca-4-hyde-no-battens/
https://zimsailing.com/sail-ilca-4-north-no-battens/
https://zimsailing.com/sail-ilca-4-north-no-battens/
https://zimsailing.com/batten-set-ilca-7-mk-ii-north/
https://zimsailing.com/batten-set-ilca-7-mk-ii-north/
https://zimsailing.com/batten-set-ilca/
https://zimsailing.com/batten-set-ilca/
https://zimsailing.com/dynamic-dolly-for-the-laser/
https://zimsailing.com/dynamic-dolly-for-the-laser/
https://zimsailing.com/tell-tales/
https://zimsailing.com/tell-tales/
https://zimsailing.com/glide-tape/
https://zimsailing.com/glide-tape/
https://zimsailing.com/teflon-disc-ilca/
https://zimsailing.com/teflon-disc-ilca/
https://zimsailing.com/foil-bag-ilca/
https://zimsailing.com/foil-bag-ilca/
https://zimsailing.com/spar-bag-ilca-zim-logo/
https://zimsailing.com/spar-bag-ilca-zim-logo/
https://zimsailing.com/cover-top-ilca-1/
https://zimsailing.com/cover-top-ilca-1/
https://zimsailing.com/cover-bottom-ilca/
https://zimsailing.com/cover-bottom-ilca/

